novotechnik

Siedle Group

NOVOHALL
RE(ERE
JEERRTUAY

RFC-4800
4 ...20 mA
TR

(3
5=

o JEREERNE/REEERIR

» T/EE7Z 360°

« TANEBDER , B EES
- BEFIPELR 1P67, P68, IP69
o DEEER12 {1

« TR

« SBEESBE--40 °C & +105 °C
« BE TR

» EftARER BRI AR

RzF3

* INTIRE (LW, AR, ITRHURMFISEA )
- IHFEEHCIRE

c EBTRE

PRGBS RIS R RBIFERIE. BT E 7HARM | EXRHE. fRRNREERTERS.
R,
WEBEZFEREIRKEFAIE.
ERESREETHN , LIFRESTSINERM TAA.

L]

%15 M BERIR R

% BEM4Ax20 JA=124418 (1EE%N )

s oeiaiibali) 250 Ncm

SR M12x1$E3k , ABY, #FER4 , +<0.15 3K / 4x 0.5 mm2 E4% (AWG 20), TPE , #E#K
LIk

R SIRIE

HUATRE S

BE () #4509




novotechnik

Siedle Group

I TRaFRtE 5 EE

1TNaFRtEIEAR

INEF AR, TUESEEE:

« iTMadER/ 250, ZHRFI01NIER
« FURERBRANZE
IEEAAE R R EER AR INZE,

TH{EEBEUb
1: TYEEBEUD = 24 VDC
HHES
1:0.1..10VvDC
ST
1: EF, IRESEEE
2: bF, innEteg
IERIE A R
SR
201: B4, 416, Rl L = 0.5 2K
202: B8y, 4-, @, L= 1K
206: B8, 4-T, B, L= 3%
210: EB4S, 4-, Bi#f, L = 5%
220: FBYE, 4-1h, RAER, L = 10 3%
501: M12x132L, 4-5t, %, B, L = 0.15 %
FSRIRB IR LA R S B R T LUE ]
6 3 6 - 1 2 1 - 2 0 2

TiRiTIE
03: TYERFE 0° ... 30° min.

06, 12, 18, 24, 36

5.6: TERFE 0° ... 360° max.
AIEHE R RS

ESEEHE
6: FIEEE (1x Ub, 1x §§iH)

75l MRS

4851: MHKALZE, BFHE

4852: EFl&2E

4853: NiETLE%, TEEMEE

4854; FF %5, FEIREINES

A R PO AR R AR ST

R EIEMNHE
o 2x M4x20 jE=1222115



Arbeitsbereich Positionsgeber
operating range position marker
Z-RFC-P__
D 47,6 02 ~
+
< / NI 2
o [[@h—i——
~0
~ 3
D 48 102 o~
Typenschild /
label
'Y >
9, D b4 <01
2
go" 5
~
]
N
-
o
o SRR FARCIREIR
r B, WS iE A

(HEENIE).

novotechnik

Siedle Group

HlEl

CAD &#}&3% www.novotechnik.de/
ch/download/cad-data/



novotechnik

Siedle Group

BAEH

BSEY RFC-48_ -__ _-12_-___

BiRHESHH
BHES 4..20 mA
T <500 Q
2l BiE (ERLESRHAEESTEBRT)
Gl BE 3.4 kHz
TIEfTRE 0..30° = 0... 360° F10°&1%
TR < +0.5 %FS
DR 12 {1
AESH wE < £0.1°
wE TRfE < £0.1°

153 360° 812 |, tfE< 0.25° (T EFIHERERFREIET)
BERE 872 30... 170° typ. +1.2 %FS, £72 > 180°: typ. +0.6 %FS
T{EEEUb 24 VDC (13 ... 30 VDC)
SHIEBRIE BESBEL mA
TR R B ( BiRZAEL)
Shtsis B ( WIGNDFIXI TIEEE)
#22F47(500 VDC) > 10 MQ
WESH
BATIFERE TS
REEHR IEC 60068-2-6 20 g, 5 ... 2000 Hz, Amax = 0.75 mm
fuhEEigHR IEC 60068-2-27 509, 6ms

F#P&4% DIN EN 60529

P67 (M12#%:L), IP67 / IP68 / IP69

TI{ERE -25 ... +85°C (M12#5k), -40 ... +105°C*
* BATERERRELUTEREULFIGRE AN (2 REMEE )

& TR S o

ez ER WMRIBAT = RATREERNRST | BEERREREA]

MTTF (IEC 60050) 798 &£

i REFFIS | FFREFHIRKD

FE /RN CE, UKCA see https://www.novotechnik.de/en/downloads/certificates/declarations-of-conformity-eu/uk
WEEE see https://www.novotechnik.de/en/downloads/certificates/eu-directive-weee/

i EMC i

EN 61000-4-2 ESD ($Eft/=SHR0MNE 4 kV, 8 kV

EN 61000-4-3 EBREIA (SPSRFH)mAE 10 V/m

EN 61000-4-4 B335 (BRI 1kv

EN 61000-4-6 HiFHi(BSA)IRE 10V eff.

EN 55016-2-3 frigsdFiting TIFRERS

FS= %212 . WNEBESURERNESE

SHEMEEEN

== ==L 22E0)
BS5 _ RS2

T{FEBEUb EHE 1 7

Rty SR 3 IR

E5Hd i 2 B&

HfER 5t 4 Eas)
AR,

Pin assignment M12
4-pole, A-coded

=i
i



novotechnik

Siedle Group

ke

B
Current output: max. operating temperature
as a function of the supply voltage
110 &
105 vecessssssses e=mBiirde / burden 250 Q
Seee.. Brde / burden 500 Q
100
G o5
£ 9
e e )
g 101°C @ 24 V /500 Q
e & 92°C @24V /250 Q
75
70
65 -
13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30
Supply voltage [V]
boh ik bab ik
One-channel, rising cw One-channel rising ccw
Signal - Measuring range - = 360" - Measring range Signal Measuring range = 360 -mossuing range
max.
. a2 - = =
Diagnostic range. Diagnosic fange
Conter X
0 Center 360° Agle o o 360 Angle
WS BT
On request: different gradients On request: trapezoid output characteristic
Signal Signal
max N
min
min
3
o 360° o max -—
Eoh ik
On request: parabolic output characteristic
Signal
max.
min
3
[ max. -—

=1



by

empfohlener Wellen-@
recommended shaft-&

@28
18 &
[~ ¥ 28 <
s I N . ]
|'|'| 'PITH
NN\ T a5 SO
ANANINZE R ®
I A | ~
| T T ’
Markierung @41 2
“N\marking 3600
empfohlener Wellen-&
recommended shaft-@&
@28
18
i
L S 28 =
| . ]
S|—|—|N 1 [l L
O ! e
ISR (i e
! pa1 | 2
Markierung S
\_marking _P6-000
empfohlener Wellen-&
recommended shaft-&
$28
18 ©| »8 [
/*\ ~ <
' | T
) |T| e\ T | ©
INEIINZE g "
! : :
Markierung @41 \g_’
\\_marking ?6.002
empfohlener Wellen-@
recommended shaft-&
P28
18
/‘i‘\ 3 o8
| i 5
S N 1 T L
NI PR .
R -
! o4t | '
. . %
Markierung
markin, ©6-002

novotechnik

Siedle Group

RIS HHR

Z-RFC-P02

B2 AMAX0IZIERIIRETE (HBREIAR
B) EH (RISHE) |

FRTEEBRHT FEERR,

[%15d PF

FFERARERD: 3 mm

TIERE -40 ... +125°C

FEERmS 8®2(M)

400005661 1
400056080 25

Z-RFC-P08
EMSIREUEEERR ( ZEHRES )
%154 PF
FFRAZREROE 3 mm
TERE -40 ... +125°C
FEmimha £(1)

400056070 1
400056084 25

Z-RFC-P41

B2 AMAOIZISRIIRERE (HBIIAR
B ) SEHE (RIEHE) |
FAfESERHE L BRI,

%154 PF

RVFRAREERD: 3 mm

IfERE -40 ... +125°C

FEmmhg ®£(M)
400105037 1
400105038 25

Z-RFC-P47
ER2NAR7SAMAX0IZIERIIRETE (HBAIAR
B ) SiMSHR5E ( RESHRES ) |

FRTEEERIE EEERIR.

L7154 PF

FeFERARERD: 3 mm

TIERE -40 ... +125°C

PR £(1M)

400105039 1
400105040 25



by

~
o —_ —— — —_—
s \N S
83
sl
—— gzt
55
g Marking
@ M4
18
12
~ |
o N PN B —
s \N S
1) H
Ep
c ©
— ges
55
g Marking
o M4

$3,25 (2x)

3,25 (2x)

novotechnik

Siedle Group

RIS HHR

Z-RFC-P23

BCMARREUEEERAR (R EIHREL )

R SR | ESRAPFM
%159 PA6-GF

RFRAEARLE 3 mm

IRRE -40 ... +125°C

FEmmRg ®2(M)

400056074 1
400056085 25

Z-RFC-P43

BEeMAMRLEEERIR ( REFREC )

R SRS | B RAFF
L7154 PA6-GF

FeFERARERLD: 3 mm

TIERE -40 ... +125°C

PR £(1)

400105041 1
400105042 25

Z-RFC-P30

B2 M 3xBIZL AR EIERER ( REHRES )
(%154 PBT-GF
RTFRARAERO £ 1.5 mm

TIERE -40 ... +125°C

PR £(1)

400056086 1
400056087 25

Z-RFC-P31
ER2 M 3XBIRIE AR EIERISR ( REHRES )
HE PBT-GF
FFRAZREROE 3 mm

TERE -40 ... +125°C
FEmimha £(1)

400056088 1
400056089 25



45

ANIRIZ
S/ mEE),
IAEyA

<
=

¢45

Markierung

marking

~ 0,2 Magnetschutz

protection of magnet

—
le_ o
= Markierung
marking
7 25 «1
(32)
~ 0.2 Magnetschutz
Protection of magnet
——
1 3
1 s
Markierung
S— .
7 ‘ 20 1 Marking
(27)
~ 0,2 Magnetschutz
protection of magnet
— PN
- =
\ / .
L = Markierung
58 25 .1 - marking
' - SW 13
(308)

novotechnik

Siedle Group

RIS HHR

Z-RFC-P22
EL2/ N7 FMAx20 I2RRRIIHERE ( THBHIAR
B, REHRED).

R E SR TFm.,

%153 PEIREILSE
FFRARERDE 4 mm

TERE -40 ... +125°C

FEERRS 8£((1)

400106735 1
400106736 25

Z-RFC-P18
IR (IEIRER ) M10 x 25 mm,
similar DIN 933

(%153 PEtREIEE
FFRAEERDE 3 mm
TERE -40 ... +125°C
= ERiREe £(1)

400104756 1
400104757 25

Z-RFC-P28
12BN ( NES#Ek ) M10x1 x 20 mm,
similar DIN 933

R FEtREMLIE
SFRAEAfRLE 3 mm
I{ERE -40 ... +125°C
PR £((1)

400108462 1
400108463 25

Z-RFC-P19

SRR ( REIHEEK ) M8 x 25 mm, similar
DIN 933/1SO 4017

%154 PEtREIER
SVFRARERER D 1.5 mm

TRRE -40 ... +125°C

PR £(M)

400104754 1
400104755 25



4/\
]ﬂ> i} el _If | "; _
=
“\J\Markierung
: marking
7 | 25 +1 SW16
(32)
§ 104 8101
. i
== 4 <} K +
N[S| ¥ |
5,5 10,1 14 20,1
=
0| N (s
I,
2
3 e o
& ¥

22,3
0,3x45°

0,3x45°

novotechnik

Siedle Group

RIS HHR

Z-RFC-P20

S2RRBEE M10 x 25 mm, similar DIN 933
7154 PEtREIEE
FVFERAREER D 3 mm

I{ERE -40 ... +125°C

PR £(N)

400104758 1
400104759 25

Z-RFC-P03
EHRERETEEEFNSEN L, SIFEINE
HE , AR TIE (530 , ShEREEs
HAMERYS |, TFRIBEEMER20% )
RIFRARERO+ 1.5 mm

TERE -40 ... +125°C

FEERmS ®£(1)

400005658 1
400056081 50

Z-RFC-P04
ERHRERTREEEFNSER L , SIS
HE , AR TR (HUa0 , hmREEs
REMERY E  TORRIEEZE/DERR20% )

RFRAERRDE 3 mm
I{ERE -40 ... +125°C
RS 8£(1)

400005659 1
400056082 50

Z-RFC-S01/502/S03
THIRLLER RS FATFEIRERSR Z-RFC-P02/P41

%154 TREEIN1.4305
PR BISEN @B / A [mm]

400056206 Z-RFC-S01  6/45
400056207 Z-RFC-S02  8/6.5
400056208 Z-RFC-S03 10/85



BURT(ERIIE[mm] -ERRRimLHE

novotechnik

Siedle Group

RIS AR

Z-RFC-P02 / P04 / PO8 Z-RFC-P41/ P43 /P47 Z-RFC-P03 /P30 Z-RFC-P18 / P28 Z-RFC-P19 Z-RFC-P22
Z-RFC-P20 /P23 /P31
RFC-4851 23..5 0..27 07..22 0..45 0..22 44 .92
RFC-4852
HEPHTER
RFC-4853 0..4 0..27 0..15 0..45 0..22 44 .92
RFC-4854
TERICHRER
HRRRR RS
AR RE S 8
SNIEMIRE AEIRERR
= 4

FHERERFNRRAVR AT~

&, BIMRIER R RERT

AE.
ERRBIEMEIIMIEITHRE- SiREHE
Z-RFC-P02 / P04 / P08 Z-RFC-P41 / P43 / PA7 Z-RFC-P03 / P30 Z-RFC-P18 / P28 Z-RFC-P19 Z-RFC-P22
Z-RFC-P20 / P23 / P31
0.5 mm: +0.4° 0.5 mm: £0.4° 0.5 mm: +1.4° 0.5 mm: £0.7° 0.5 mm: +1.3° 1.0 mm: £0.8°
1.0 mm: £1.1° 1.0 mm: £1.1° 1.0 mm: £3.7° 1.0 mm: £1.3° 1.0 mm: £2.6° 2.0 mm: £1.8°
2.0 mm: +£3.5° 2.0 mm: +3.5° 2.0 mm: - 2.0 mm: +£3.3° 2.0 mm: - 4.0 mm: £5.4°

=1

10



PSR 1P67

IP67 %4 DIN EN 60529 Rife
IhiFSF4R 1P68

IP68 | zo DIN EN 60529 #Rtt

w1l

1=BN

o O 2=WH

3=BU

o O 4=BK
2 1

1 RAJFRELREIIERE (EMC) FHT

() | Fot8en C AITFERHGER. S

RIFORIES. S0, IR ﬁﬂ OLINE

novotechnik

Siedle Group

BLE M12 R5EsL

EEM-33-32/62/97
AMI2xIMEREL | ABL, THEEEIRYS , TR

ik , IP67 , LeimtRER
LT PA
BYHPE PUR, @ = £9 6 mm,

-25 .. +80°C (IFEERE )
-50 ... +80°C ( EERE )

S PP, 0.34 mm?
FEmmhg BSEN KE
400005600 EEM-33-32 23k
400005609 EEM-33-62 53
400005650 EEM-33-97 10

CAN | cAN-bus
i



novotechnik

Siedle Group

(ES45RaR

MAP-4000
Front view Panel cut SURGEHF B RNEN | ERAEEEBAEERE
= ESMEMINERSES
35950 ] « T{FEBJE10...30 VDC, 80...250 VDC or AC
ORI i * FRBE 0.1%
- (EREE T{FEB[ERIE 5..24 V
« IBEEZEL 100 ppm/K
Side view « A% RS 232, RS 485, & & iEhet
e = PR
D
s ol S

by

12



M12 connector

* Customized lengths

® 3-, 4-, 8- and 8-pole versions

* Protection class IP68

+ Ordering codes of standard versions
see ordering specifications

Tyco AMP Super Seal

* Pin- and bushing housing
= Customized lengths

* 3-, 4- and 6-pole versions
* Protection class IP67

* On request

Deutsch DTM 04

+ Pin- and bushing housing
* Customized lengths

® 3-, 4- and 6-pole versicns
* Protection class IP67

* On request

ITT Cannon Sure Seal connector
* Customized lengths

® 3-, 4- and 6-pole versions

* Protection class IP67

* On request

novotechnik

Siedle Group

ZHEEA R TiE

Molex Mini Fit jr.

* Customized length and lead wires
* 3-, 4- and 6-pole versions

* On request

Molex Mini Fit jr.

¢ Customized length and lead wires
® 3-, 4- and 6-pole versions

* On request



novotechnik

Siedle Group

EHERESRES (L8) BIR

AT

R SR TR
i | FrIRIAER5885 | 22
&, A0l =

fkYm : 201114

Phone +86 21 58997738
Fax +86 21 58997737
info@novotechnik.cn
www.novotechnik.cn

OF=H0]

[=
© 2023-11-8

HMNAREIT RSP SE, ESERRN TIFEMERM TG | XS HETRRELNISP TERHMARERENRMN. ErREX e EE A5
BIRATEEZ WRBEAINT R | BRI SRR N ERMEMNE P RASRERRFE—ENRRYE. Bt , REEFWREITTEANATIIEESE. HREMEATER MR
TEIREOR | RS ATIEAN.



